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1-9

Directions: In each of the following questions, there
is some relationship between the two terms (figures,
letter clusters or numbers) on the left of the sign (: :).
The same relationship exists between the two terms
on the right of the sign (: : ) of which one is missing.
Find the missing one from the four altlernatives.
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9. 121 1331
1. 750
i T35
8. 129
4. 615

10-11.

Directions : The figures in each of the following
questions follow a series. Select the figure from the
given alternatives which would continue the series.
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12-13

Direction : In the following questions, find the one

12-13
midequuamed : aRs)om capayEmgled @) allm

that does not fit in the sequence established by the andl (o] mo)IMmOKEIET. (@oo MM Tudlens

six figures given.
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Directions: The following questions are based on midequoemnid : MRS Gala)ANUl TREMAFINGINS
letter sequence. In each sequence some letters are ayoamileeg ERSImuoomaoasiwos). B06a alwe]
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17-19 17-19
Directions: In each of the following questions a midegusmmud : MSION CaayEREItE Mioa®ges
number series is given. Find out the missing term of a0} awoeml madaalalean;. asmilalol maiseg|

the series. gl5i@a mooal) diEjallslen)s.
2% 5§
17 806,519, 287, 232, 55, 7
2%

1. 47
2. 1137
.M
4. 205

18. 20,36, 61,97, 146, 7
. 179
2. 8T
3. 29
4. 210

a4d

19. 57,79,911, 1113, 1315, 7
1. 1419 |S17
2, 1503
3. 1517
4. 1719

20-27 20-27

Directions: In the following questions, four items
(figures, letter clusters or numbers) are given. Three
of them are alike in a certain way. Find the one which
is different from others.
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28-30.

Directions: In the following questions, numbers are
arranged in the form of a pyramid. From this pyramid
four sets of numbers are selected based on certain
logic. Two of these are given on the left and two on
the right of the sign (: :). One set of the numbers on
the right goes missing. Choose that set of numbers
from the alternatives which carries the same logic.
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30 3,817 :
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11, 20,22
24,29,33
23,30, 32
20, 22,29

31,32, 33
27,28,29
23, 24,25
12,13, 14

26, 28, 35
15,24, 31
17, 24, 31 r
26,27, 23"
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31-32

Directions: In the following questions a pattern is
given with a part missing. Find out the part which
will complete the patiern.
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Directions : In each of the following guestions a
problem figure is given. Study the figure carefully
and then answer the questions given under it.

33.

33-34
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How may angles are there?




How many triangles are there?

35-37.

Directions : In each of the following questions, two
statements are given followed by two conclusions
numbered [ and II. You have to take two given
statements to be true even if they seem to be at
variance from the commonly known facts. Read the
conclusions and then decide which of the given
conclusions logically follows. Find the correct answer
from the given allernatives.

35. Statements :
1. All lamps are books.
2. No book is coloured.
Conclusions :

I. Some lamps are coloured.
II. No lamp is coloured.

Only conclusion 1 follows.
Only conclusion 11 follo
Both 1 and I follow.
Neither I nor 1T follows.

- B o

Eall L

35-37

mideguwemul : ansom canojamglependmlens
mire) (aumimoumadd mmsloldlenyom). meolad
awntto | o I go mouojed eeos)omis)es o)
WOMEOMENZ)e POE. MuOwiEm@In] moloyan
amimyme.ghed miamje aIymimRORoET My (AKTimo
aimad apmi emommilmore @Ry (MimonImdaul
ARMIDUSINEM MR HEMODISD]d. ERMYBIM
emud nowilaj maridles)om mmameamglod agmos
maslamaugla] anyma gl @lajeomilen)s.
mmmlalan)m pmmeemglesl wEADODE e ls)
o),

35, (umimonamdd
L apgp aligenaglo agrimasmgosn.
2 ao) apmimane M0 Re o).
aBm)aImamd
I alles allgen)asod mlosmg)asamoam.
II. &) niigoenie MINEMEHANKDE.

memyaame | oome wdlawoeni
ammyzome [l moymo walmosm)
1 g0 1l go woallavosn’
Iao [l @ woalog

i e




7 4

38.

120, 56,98 4o
39,

Statements :

i
2,

All envelopes are umbrellas.
All umbrellas are chalks.

Conclusions :

-l o o8 o

Some chalks are envelopes.
Some umbrellas are not envelopes.

Only conclusion 1 follows.

Statements :
1. All dogs are reptiles.

p A

Some cats are reptiles.

Conclusions :
1. Some dogs are cats,

1L

A says, “If B gives me Rs. 40 he will have
half as much as C. But if C gives me Rs, 40
then three of us will have the same amount”.
What is the total amount of money that A, B
and C have among them?

q0
go ., 128 )

Some cats are nol repliles.

1. Only conclusion 1 follows.
2. Only conclusion 1I fol

3.
4

Both I and II follow.
Neither | nor 11 follows.
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many hand shakes will there be altogether?
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At the end of a dinner party all the eight people
present shake hands with each other once. How

39.

s-b

LT mIIMakUd

L aIgR @OIOjd@lo @SHEosT
2. aBP BSHBl0 021009 mPIGT.
anmyadmemud

I ale) canenad aaojaspoe,
II. afes @)sau8 eain)smae

anmzome | soimo walmaens.

I.

2. memmome Il moime wewlmoend.
3. Ige Il po vomloeosni.

4. laoll a0 wologL

Lt manimdasid

L g aiSliElo PROEBHIEN.
2. alle) afjajeid poweamgaoa,
ARM DI

L afler aigled agaegosm.

Il afles nyajesud powemael

—_
¥

anm)memo | moymo vadlawoend,
anm)momo [ eoima vodlimeos.
I @a [T go voakazosms.
Tao Il @5 woology)

e ok

A cnmyam, “apailes B 40 opa1 melaaonsn
sl aqiled, C 06 ppamiand ol perso
dnjo. afymodd amiled C 40 oju molao
ssmElod ememud  pjomjcaidanie myel)
manamsreadnio . A, B, C apmiladed e

Al O)ad penEowialaniof

¥

uimd andglen)ewao aeailes paneooioym
nf)5l8ni0le MICRID)TNAINSD]e SeallS]la]

dh]RNATD]. AUl TR Al (LAWY

o0 allslap @) o ¥

57 -7
AR EE

16
28
64




41.

43,

In an examination, a student attempted 15
questions correctly and secured 40 marks. If
there were two types of questions i.e. 2 marks
and 4 marks, how many questions of 2 marks
did he attempt correctly?

150y 40
;o.,(')_,,é \'4
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The number of boys in a class is four times
the number of girls, Which one of the following
numbers cannot represent the total number of
children in the class?

Between two book ends in your study are
displayed your four favourite puzzle books, If
you decide to arrange the four books in every
possible combination and move just one book
every minute how l%ng would it take you?

1

.-r-""-;.-—-_
_,""'3(’/ 7 //’__,.
I 24 minutes //-%"—'
2. 20 |:!1mul:es I
3. & minute '6
4. 4 minutes

In the given figure below what does the shaded

portion depict?
+ Males

Foot ball
palyers

Film Stars

1. A group of male film stars who are
football players.

2. A group of film stars who are both
football players and cricketers.

3. A group of male film stars who nei
play cricket nor foothall,

4. A group of male film stars who are
cricketers but not football players.
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45.

47.

Ajay wants (o go to the Management Institute.
He starts from home, which is in the East of a
crossing. He walks towards the crossing. The
road to the left ends in a school, straight ahead
is a community hall. The road to the right leads
to the Management Institute. In which direc-
tion is the Management Ipstitute from the
crossing?

East
West
South
North

B =

Vineeta's house is to the right of Kareena's
house at a distance of 30 metres in the same
row facing north. Sonal's house is in the north-
east direction of Kareena's house at a distance
of 35 metres. Determine the direction of

Vineeta's house with res
1 West ‘l'/
2 East

3 South

4 North

From his house Mohan moves 30 km in North-
West direction and then 30 km in South West
direction. Next he moves 30 km in South East
direction. Finally he turns towards his house.

In which direction is he moving?
e la
l.  North East
2. South East
3. North West 70
4. South West

If North-West becomes South, South-West
becomes East and so on, what will West
become?
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49,

50,

13

If the teachers are to the West of Principal’s 48.

Office and students are to the Nogth of
Principal's Office, in what directi
ers with respect to the students

o b —
z
-

A dice is thrown thrice and its three positions 49.

are given below, Find the alphabet Opposite
P?

wo-H=m

1
2
3.
4

The six dices are given below. The top face of ~_50.

each dice is erased. The sum of the dots on the
front, back and top, bouom face is 7. If-the
odd numbered dices have even number of dots. =
on their top faces and even numbered dices
have odd number of dots on their top faces,
what would be the total number of dots on the

top faces?
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51

52,

53.

54.

If + means x, — means =, + means — and x
means +, then which one of the following
equations is correct?

L.
2
3
4,

In the following equation, two signs need to

. +and -

If*=—;#=4,@==%= +;&=x, then
which one of the following altematives is true?

14

51.

36 6X1045=6
66x4-9+11=88
162+ 10-2x12=218

a2,

53

+ mﬁm;nm x nm(mp. mdmonoes)

MIOF MOSn DTSRI IO} I D6TE)
allamemmul GRamOMYs PoGloood Bomea T
U0dh\0 COBID0G). manidlen)on pomosmgiod
mlam)s WEDODE TINSANNS)HH)d.

Ix5+3-18+3 =12

+ go + po
X @o-—go

X go + po
+ o —go

B -

¥=_ =4 @==5= =;&= x, aymoasm
B moey molaniclem gomosamglod
a@maem wadl ¥

L (6422 g &)= *
2. s1=4Y3eadt6=3 ) x
3. @ =3 esd1s K7 x
4. (1574 X3m(6052)#3

If interchanges are made in signs and numbers, 54,
which one of the four equations given in the
alternatives would be correct?
Interchange : sign + and = and number 3 and 6
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55.  If 0 stands for the operation "Add and double 55, “@|5)emie MR MiclyAs DOSIm0S): Do

the sum”, that is a0 b =2 (a + b); and & Salgen”  agmosT 0 mRAmOE0S) NI
stands for "Multiply and halve", thatis, a® b aomowd a0 b =2 (a+b) meojcanas
=14 ab, find the value of (5@ 4) 0 (7 @6) _ “uEmlon)d@lo MRAGIR ok W] Do
Sarg)a” agymoan & aRdmnais)mmish. ERma
|0 2\ o6 @4 =Yaabagels (5O 4) 0 (796)
o} gbio dma)ailslos)s.
1. 117
2. 88
k1 6
4. 3
56. If alternate English alphabets starting from ¢ 56. oyt meaainaorioind ¢ wial aane MRt
suchas ¢, e, g, i and so on, are written in small @la] c, €, g, | m]salon, 9aky FRSM0EE
letters while others in capitals, then how the glege agiasn aeln Guesnemglele @R
3rd day from Monday will be written? PP apeiod olsgidial aymed apmo
eomm dlaime agyeymymno ¥
4" . WeDNeSdAy
2 ThUrSDay
3. WEdnEsdAyf
4. THuRsDAYy

rak
57. GROUND apym nuosd sanmuy (eao0d) 2o

£
57.  If the word GROUND is coded as BMIPIY,
how the word MINDWELL will be coded? Wi BMIPLY apamossmeios MINDWELL
AQ)aM Qs 1, 89Tl apsmHmao]
%ﬁf Iﬂﬂ@nf
1. RNSIBIQQ
HDIYRZG

WD JR2¢e BNixpzcs

58-59.
; i : 58-59.
Direction : The capital letters in each of the following mideg 3. fdhoopom 1

words are coded and written in small letters, but not i 3 ) @ocaxmiled
in the same order as the letters in the word. Find the e 3 !
: DA FRAUDEMBI of) P ENDNEISO)T], agTNom
codes for letters and answer the questions. T smges @nom (Seomag o
000 @0-TNDS Q@) TITAGleE D). TREHETRENS
adhonl @re)allsla) u;m;,mm:kﬁ nmm

zajl’ﬂ"

: 0=
:555”;’ g"‘fu?’ 0
A

58 What will be code in correct order for the word 58. TO.AD A nResinl Banmul(0a00l) 83
TOAD? m‘hﬂ apamonalen)o

1. bfal
2. gufb
3 hfuw

4. hufl
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59. How will NORMAL be coded in correct 59. N )} B3I WAl (e
order? oD apoialaae

L 1. cfbhue

¢ 4 jml cfbgu

3. cubgfl

4. clubpg

60.  The six faces of 4 cube have been marked with 60. 80 MAUIDOS5IOS FHOINIDAIC TSI
numbers 1, 2, 3, 4, 5 and 6 respectively. This 1, 2,3, 4.5 6 apm) muoaljaulnadd ms
cube is rolled down three times. The three wopays;oiloldleam). @7 TRID00G
positions are given. Choose the figure that will 2YIM}(A00IN e @O}5]TN). BAN](AIAKDLO
be formed when the cube is unfolded. R AQEIBOM ag)mi Mmoda]

wlalanymn). ©D Masimesss mindomn,s
waen agesind @RD AR @) iomilenalolas)
BB allo TOHETNS] 6] dh.

] 5 I
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Directions: The figure given in cach problem is
folded to form a box. Choose the box that is similar
to the box formed from the given alternatives.

61,
]
v | X
ol b
:
62.
X
_¢-
[e] 1€

K

6l-63

midequoemud : @000 canaymlage marldlesm
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63. A

64-65. 64-66
Dirgcl:hns d Ne:fst three questions are hased upon - : e —
the information given below. Study the information Koginany! ¥ e @y 0 S i
zna;e::llfh:n.:uth:_n L:mﬂ the correct altemative (o S 1@'\' aa‘imom;,
Five friends A, B, C, D and E are sitting on a bench. G i ¢ = AR
A B, C D, E agml meemy mujanyomead an)
srusmilod goElan) o).

(N AissiningncxltoBr/M,%jﬂ Gom B ad awsyomon] A @aolesymm)

(2) CissittingnexttoD, _ 2) D o8 aesymmond C galaaymm
(31 Dis not sitting with E. E.,g, h{. C,f (3) E mes aws D malesymig
{4)  Eis on the left end of the bench. (4)  susmiload @sm) @egoe E malea)m,
(5) Cis on second position from the right. (5) M) &IOOm) WM VMEIBOME MUOIM
(6) A ison the right side of B and to the right side C
of E. (6) B mes cmompeomosn’ A. E mjes aewm)
(7)  Aand C are sitting together. QKD MY,
() A oo C e aoala) malesymn).
§
I 64,  Where is A sitting? §4-opolsmont A gelesin 1

I. B ojesope D mjeswje @soilod
| 1. Between B and D 2. D apsop Co oS3
| 2. Between Dand C 3. Coesop E opsup msoic

3. BetweenCand E 4. Bopsop Copsop psoko
4. Between Band C
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63,  Cis sitting between

B and D
Aand E
D and E
A and

4w b3 =

1. Extreme left
2. Extreme right
3i
4,

67-70.

What is the posnor/

Third from left
Second from left

Directipns: Next four questions are based upoen the
information given below. Study the information
carefully and then choose the correct alternative to

answer the questions.

In a family there are six members A, B, C, D, E and

F. A and B are a married couple, A being

member. D is the only sol
A. Eis the sister of D. B

whose husband has died‘f,

le
rof

n of C who is
is the

67. How is F related to E M
1. Mot F
2 Sister-in-law
3 Sister
4, Mother-in-law
68.  How is E related to C?7
1. Sister
2. Daughte
3 Cousin
4. Aunt
69. WhoisCio B?
1. Brother
e Son-in-law
3. Nephew
4. Brother-in-law

65. C opoleaymd myoes aeen @suilensnt t
1. weswye D oesoge
2. A mjpeswo)p E oajesoje
3. Dapswe E ojesope
4. A oesaje D ojesm)e
66, D wopes qunome afalosaaent
l. msoy @epmo
2. aeim) aegooh
3. gmsmy mkmi ayrmonoh
4.  @soy oila oaeoad
67-70

mideguesmul : GRSITH ML) Calid)Emud, moaw
madalmislkeeyrm allussmd mesimunomeoasiooer.
nilawsanud (wavdandaje anola emqileas] ana)y
smuad WOKIOD PONoe TIAGETINS)Ha)d. AD] M)Slo
summksd A, B, C, D, E |, F apm amn) meonamd
pad. A @jo B @jo agjioemo &lay emosimoe. A
oan’ @ Mmoo, A WPs musanosamom C ayes
ag zamoat D. D mjes cveansaskmosni E. adamoai

adlajeaom F on} anjesegin’ B.
67. A aeowl apemen F eumueqsilesiamt
1. v
2. momod
3. mueanosal
4, mwezowi apan
68. C mpoul apsmem E mimweqsiclesan)
1. aueanons)
2. oad
3. amiad
4. aeazow) (mRaf)
69. B a8 C mgmoan) 7
(F Muganaannd
2. oojaaead
3. mRmilannd
4. meglos




70. How many male mem are there in the

family?

1. Two
=

3. Four
4. Five

71.  Which of the options can be obtained by

70 @ysjommmied aguo ouem)snol perd ¢

o

B

aya
mael
Rl

71 alme X ansslmosi agemoass allwoml

rotating the figure X7 oient aral cudlaayma ¢
Eﬁ % ..\
v x \/ X
x A B c D
1. B,CE
2. ACD
3. B.D.E
4. AC
72-73

72-73.

Directions: In the following questions, the top
figure contains the parts of a figure which can be
made by joining them together. Select the alterna-
tive which shows best how these parts can fit together.

mw : ARSI GanayemElan, B)dEls
paosymEiclenm alimomicd ao) slmaslen axn
smud esemloldlen)m). @D 0wl  oakom]
Al @ oo DERISITe. mIalaaj Mol
mimmye @™ eanemud ~ggalo Mmoo ¢ asdom)
nia00nad) IDHETITS)H8]dh.




-

21

73

74-78.

Directions: In the following questions, a set of
figures carrying some numbers is given, The numbers
in each figure follow some specific principle. Study
the figures to find out the principle on the basis of
which the missing number can be derived. Then,
choose the correct alternative which contains this
missing number.

74.

L-\)
r..)

Fop Sl

22
24
32
42

T4-78

adequeamud : mesyom cannyEngied allel quonly
oud ppp ao) omud (Mge) allmemud moialoldl
s 0009 alimaslale PEA Moaliaud an)
(AIODéEh Mo mRmymuslafi e aflmemud
watlay amqilened aemlan mosiaundmmmie
MAISISIEIENNTN MofL) SOEMROmdh. oamislaam
oW magEhtd ailmjo Maisagls Muoil) mionemm
ST

] 7 8 9
Y Y ﬂ}_
37

72 : 129

412, 3"5 9







-

78. 2 3 8
| . | 4 ‘ 2 3 @ 5
4 5 4
1. 82 \/
2. 98
3. 104
4, 112
79. If the English letiers A to Z are written in a 9 A Z neowpa Mol andaosmod
reverse order then what is the fourth letter 1o agloom (samelod ofe)ololeles)m).

the right of 12th letter from the left? o8 smneamaTin]e 12 -006Mmn mRaa

Z, 7; X)‘. .V‘// V} U/TIS/R G{ﬁ D’, WOl lelIG)alRon mILRam) Moy

1

2 Al 2
3 R
S 1 4 L & A

80.  Ifthe first and the third letters in the letter group 80. DISTRIBUTION agan meestow)afloc
DISTRIBUTION are interchanged and also amo Mo ARSMDEmEl AREMLMie aagl
the second and fourth letiers, the fifth and @ITlan;m). HSIOMm, BARje MILs RSO
seventh and so on then which of the following SBS8)0 MR nf¥lo O)SEEIDN AENEHM
would be seventh letter from the left? ARAmiIMie EGIGIdlen)Mn). MRaLOE moaY
manlalea) Mmool (Jmoan DS o) aIuG)

1.

STRIBuTION 3

N

- oma

P ST Ol RuRl on's

81.  If the letters of RUTHLESS are arranged 81
alphabetically then which letter would be the :
last letter?

RUTHLESS o8 modmnand, @pomoeoen
e omm ws)H0] @ond men Tl meom
MREHDe afmomilclons 7

)/

r—l
-

A .
o< e B
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82-83, 82-83.
Directions: In the following questions, find out which wldequemud : amsyom Sanaamgiad 1, 2,3, 4 apam

of the figures 1,2, 3 and 4 given in the alternatives js al@emghs agmoen 2aginl maaluiges alm
embedded in the figure given on top . s ansemlolslanymay #

82,

83,

\%




84-86. 84-86

Directions: In the following questions a set of figures aidequasmnud : mRs)Em 6aayEngled ao) omud Alm

is given. Find out the figure which will complete the @nd modelaldlenmm) mmiclesm gomosmghsl

blank space from the given alternatives. mimje (ML qUORI ARACIDER0NE Al
alligo dnirayallslonds.

84.

/1=l
L] =

EY
e
2

-

85.

EL
=

,' |

N

P

q

-~




———

||
I | I I R

il
I

;
j
I
TI4E

-
I

1 2
R7-88.

Directions: There is a figure to the left of the vertical
parallel lines.  Examine the figures given in the
alternatives and find the one which is the exact mirror
image of the figure given to the left of the vertical
lines.

87.

87-88.

midcquaamul 1 SofIED TURMMOCHA LGOS DS
myesnaEl a0) al(meleE. moee MITIKea;m D
oamul auslaueowla), npoil afimeosn eoaueow Tuad
AMDCORKLEBAS @SMNIRmN] MASITISEE alm

moflon) adaemoEnBa (aoiniosnis nfai e
allglon)d.

e

e, = 23

3
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88,

1\/ 2

89-90,

Directions: In each of the following, a question is
followed by two statements marked I and I1. Decide
which of the statements are sufficient to answer the
question. Choose your answer from the given alter-
natives.

89.  What is Mohan's age?

Statements
I. In 15 years Mohan will be twice as old as
Ram would be.

II. Ram was born 5 years ago. 5- 2

1. Only I is sufficient.

2. Only 11 is sufficient.
3.  Both I and I are requires

4. Both I and II are not sufficient.

90. Who is a better singer D or F ? F:} G;;ﬂ

Statements
L F sings better than both G and S.

II.  Neither S nor F sings so well as D.

1. Only 1is sufficient.

2. Only Il is sufficient.

3. Both [ and II are required.

4. Both [ and II are not sufficient.

89-90

midequeamud : aRS)T 23000 000 OmIeNs, a0)
sapayomimawade 1, I apmi mesoogag)s)moiol
5188 BaRE) (ATImonmeed molaloioleaion). @
(umimonimasglod afmosnt canaymmlal pomos
madan)mmlai amloomd ofym o 1e)@niken)d. manl
aleaym pomasmglnd mikmie wolmow gomoo @i
EIIS) B8] .

89. cawvanead amqy apumoaoat
e ST T NS

I. 15 oo aasard aasaod, 0oslmaamm

~ woqilen) megloodo
II. 000 mmlayyd 5 axdeiso aoyruoent

ramimanm | eoyme amloas)s
I soymo a@lwod)e

1 go [l o mepouwmymoe

I poll go woime gann

el

Do F &y mmeosn’ mg aogeonnd?

(AN O M

1. Goowmje Somoje &l seflmon] F
nldslo.

II. Sao Fao, Dows meymoe manowol
IS

rumimoim | 2o@e amlooam)e

I oomo aalmaae

I go II po amyamm)@seni

I @o Il go @oymo aniom

L




91-100. 91-100
Directions: For questions from 91 to 100, write midequeemud : 91 aymod 100 wea canayamudod

your answers in the given space in the answer DTMASNSERTIDS @08 aflolaa)am Gb)miTLORImt
sheet. Your answers should be written only in miaBges PGS Afl$]M)d. FWADARIV] BN MED

numbers. Jiy ]
91-92 91-92

ady, 1]
Study the following diagram and then answer each ooy EmIBlam alimo (WoaaDoes amqlesd
question. Write only the number. M0GA3 0a00,OEIM]e PTDAS. Af)F)]d.

mm 1 Blasanmdand
/\ /\
5/ 8 ] 5/ & oanilonal oy
I— Medical — eflquaud (remyds
7 2 7 2 Danusuiau)a s )
f \-\ Surgeons mudmnieod
3 3 { oyl allndiaod)

91.  Which number indicates Professors who 9. ngdf  avomsy (maud) @it eacwlesmd
Medical Specialists? Mgty IS Blabanmdaoan ajes!
R aaosmileaona ¥

92.  Which number indicates Surgeons who are 92, agad muoaymoe’ eanleand miaamyelq)
Medical Specialists but not Professory? &9om mudmadeien, ~Hmani eiaaomd

R GHITHUSDD, ansrElansamileamnd

93-95. 93-95.

Each one of the following questions contains three sy aap0j@Englecncoomilee jm) mmemud
items. Using the relationship between these items (@onysmul) aossmlaldlea)on). m @memed mal
match each question with the most suitable diagram engg Mo ARSITUDIMEdES, MY Mmmkelnls]

given below. Your answer is the number which de- S2Malnd AFRaNe @RMmCDIRLED oo myw
notes that diagram. Write the number of the diagram 9009 02100) 0D 0aID)e aISIGardan)s. @Ry allm
in your answer sheet. m@mﬁnﬁm&p&mmw‘ﬂ

maud (smEes DUmOMDHSLIIMIGE neym)d.

OO..@@

93,  Your, mine, their , 93, mlemges, aan, meaes
94.  Flowers, clothes, white j/ 94, ananad, cumiimemud, Snugjom
95.  Mouniains, Forest, Earth 95,  axdoimersud, o8, el




In the following series how many 8s are there 96, oo Oolakuidleom oooemikolod 8 aflowiod
which are followed by 87 Write the number in AUBYD DY oG}l Qe ¢ @y ouoal)
your answer sheet. POmDEHSERMIAS oQ)P)m)dh.

; 390?13@%3;135669?25&1

. How many dots lie opposite the face having 97. moey mmisleaMm alimo esadl 80) Tudal

four dots, when the given figure is folded to myoe0eslmond MIR]) almmmul PR o
form a cube? Write the number of dots in your D agEIBIDDT g &)TmEul paEo
answer sheet. wildlen)s T MOTMB@Es e MIERDS
LTSNS ROMIDEIF D).
[ ) -
L]
[}
e @
Lo »
L] [ ]
e 9
e o
4 - s .0
e ®
e ®

& sili,
112

If the fifth day of a month is 3 days earlier 98.  om) comumEIeE MREMOe G @a0qpdak

than Tuesday, what day will it be on the 15th aymyalnimie. aydane apExiod aoquomilen
day of the month? Write the number of the 15 -50 @I ag@ dlumeoniclen)o T il
day counting Monday as 1, Tuesday as 2 and gadal | apamie eanapdal 2 afymje @wemam
S0 on. SaMapoas, @R darmuomiec mod afEm)e.

Q,Q’ ‘}J:ul} 28 - 7/
e 1 1413 e

. X was bomn on 3rd March, 1980. Y was born 4 99. 1980 moda] 3-20 elmmlwoeni X mailayd
moay dlume sy’ Y mailyd. an
BBIGIATIN Slajemild: dlmo wnrhood almowiln)
). geskad Y @ies maalmo agdh dlaimuad
wloymy. olsgedal | apamje eaoqpda 2
AQMje  @REMOM mEmaadedl, @y Alumy

mfﬁ- : ¥} D h.

days before X. The Republic Day of that year
fell on Saturday. Then which day wasY's birth-
day? Write the number of the day countin,
Monday as 1,Tuesday as 2 and so on.

Moy 2%
2':):!.,-5n1u

T 9 t6 23 30




iy

T =

Y ra R T, U « T-i-.LSr‘_’C_"q
1

100. Five boxes numbered as 1, 2, 3. 4 and 5 are 100. 1, 2,3, 4,5 apool mounyaud madalols)pn

stacked one on top of the other starting with msm)oalglaud, mmud | aggage moae agmi
number 1 at the bottom as shown. 5aH) aaTial a)aEks @RS gl
allimasiled aoamlaflaloe]mmanoon mRs)
@nlnuafloleayom).
)
4
3
2
1
Box 1 is removed and placed on top of the gl o, B e ¥
: oyaglal ardienan]. KsENaRaKEL @S] Do)
stack. If the procedure is repeated two more
f : ; A = @omie] ayoudanlajond doyeiod I fas
times, which box will be in the middle of the / Aai Yo 1 b
stack? Write only the number of the box. pe
AR,
.
7
|
i
:




